AP Chemistry Worksheet 9: Limiting Reactants & Theoreucal Yield
Zumdahi textbook chapter 3
For each problem below, write the equation and show your work. Always use units and box in your final answer.

1. A manufacturer of bicycles has 50 wheels, 30 frames, and 24 seats.
a. How many bicycles can be manufactured using these parts?

b, How many parts of ~aob 2t are left over?
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b. How many grams of carbon dioxide form?
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2 ¢.  How much of the limiting reactant is left when the reaction is complete?
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d. How much of the excess reactant remains after the reaction is complete?
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When hydrogen suifide gas Is bubbled into a sclution of sodium hydroxide, the reaction forms sodium sulfide and
water. How many grams of sodium sulfide are formed if 2,50 g of hydrogen suifide is bubbled into a solution
containing 1.85 g of sodium hydroxide, assuming that the limiting reagent is completely consumed’?
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b. If the actual yield of bromobenzene was 56.7 g, what was the percent yiefd?
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